N = 0l & At & Ml A

SN DEHEDY
H: HRES(RSEIW)
S WEAHAHX = (chel & 9l)

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
nsHIY 10,539,817 9,252,368 1,287,449
< 84,500 84,500 0
Al 10,455,317 9,167,868 1,287,449
HWees(nsSa#H &) 7,267,784 5,980,335 1,287,449
HEHHK = 6,792,449 5,505,000 1,287,449
WEAHAHXS(DEHE 1) 6,792,449 5,505,000 1,287,449
701 DBt HSHES 6,792,449 5,505,000 1,287,449
01 JIEtZIHEES 6,792,449 5,505,000 1,287,449
OLSAHESSIAHN H&E3 6,792,449 5,505,000 1,287,449

DIMAMMEARNEZ Ho2

354,326,000 * 14! 354,326 0 354,326
DalMUIZ AX Z2& 1,100,000,000& 1,100,000 900,000 200,000
DOolNsSEsE & 300,000,000& =14l 300,000 0 300,000
DEIFIE =4 Z & 933,123,000 933,123 500,000 433,123




